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[Time: 3 Hours]         [Marks: 100] 

NB.    

1. Attempt any five questions. 

2. Figures to the right indicate full marks.  

 

 

1.  Examine the concept of informal sector highlighting the features and problems of 

informal sector. 

 

20 

2.  ‘Informal sector complement and supplement Formal sector’. Examine with reference 

to any two theories of Informal sector. 

 

20 

3.  Describe the challenges faced by sanitation workers in the context of working 

conditions and wages. 

 

20 

4.  With the help of suitable case explain migration as a livelihood strategy.      20 

5.  Discuss gender and labour with specific reference to migrant workers. 20 

6.  Social security is an indispensable factor for any labor scenario. Justify 20 

7.  What is decent work? Discuss decent work as sustainable development goal.  

 
20 

8.  Justify the need for labour reforms in the context of labour flexibility debate. 20 

9.  Critically evaluate the provisions and concerns with reference to the Occupational 

Safety, health and working conditions code.  

 

20 

10.  Write short note (any two) 20 

 a. Informalisation of labour  

b. Agricultural workers  

c. Objectives of MNREGA 

d. Industrial Relations code  

 

 

 

_______________________ 
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[वेळ: ३ तास]        [गुण: १००] 

१. खालील पैकी कोणतेही पाच प्रश्न  सोववा  

२  उजवीकवील अंक पणूण गुण दर्णवतात  

 

१.  अनौपचारिक क्षेत्राच्या संकल्पनेचे पिीक्षण करून अनौपचारिक के्षत्राची वैशिष््टये आशण 

समस्या अधोिेशित किा. 

२० 

२.  ‘अनौपचारिक क्षेत्र औपचारिक क्षेत्रा ा पकिक मकशमका पाि पाेते’. ह्या शवधानाचे 

अनौपचारिक क्षेत्राविी  कोणत्याही दोन शसद्ांतांच्या संदमाात पिीक्षण किा. 

२० 

३.  स्वच्छता कामगािांच्या कामाची परिशस्िती आशण वेतनाच्या संदमाात त्यांच्या समोिी  

आव्हानांचे वणान किा. 

२० 

४.  स्ि ांति ह ेउपजीशवकेचे धोिण आह ेह ेयोग्य व्यष्टी अध्ययनाच्या (केस स्टेी) मदतीने स्पष्ट 

किा. 

२० 

५.  स्ि ांतरित कामगािांच्या शवशिष्ट संदमाात श ंग आशण श्रम यावि चचाा किा. २० 

६.  कोणत्याही कामगाि परिशस्ितीसाठी सामाशजक सिुक्षा हा एक अपरिहाया घटक आह.े शसद् 

किा. 

२० 

७.  सभ्य काम (Decent work) म्हणजे काय? िाश्वत शवकास ध्येय (SDG) म्हणकन सभ्य 

कामावि चचाा किा. 

२० 

८.  कामगाि  वशचकता वादाच्या संदमाात कामगाि सधुािणांच्या गिजेचे समिान किा. २० 

९.  व्यावसाशयक सिुक्षा, आिोग्य आशण कामकाजाच्या परिशस्िती संशहतेच्या संदमाात तितदुी 

आशण समस्यांचे गंमीिपणे मकल्यांकन किा. 

 

२० 

१०.  खालीलपैकी कोणत्याही दोनवर थोवक्यात टीप ललहा  २० 

 अ) श्रमाच ेअनौपचारिकीकिण 

ब) कृषी कामगाि 

क) मनिेगाची (MNREGA) उशिष्ट े

े) औद्योशगक संबंध संशहता 

 

_________________ 
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